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BACHELOR OF SCIENCE (B. Sc.) 

Term-End Examination 

June, 2021 
LIFE SCIENCE 

LSE-10 : ANIMAL DIVERSITY–II 

Time : 3 Hours     Maximum Marks : 75 

Note : Question No. 1 is compulsory. Attempt any 

four questions from Question Nos. 2 to 8. 

1. (a) Read the following statements and choose 

the correct option given in the parentheses : 

1×5=5 

(i) (Amphisbaenia/Sphenodon) is the sole 

survivor of a group of primitive 

reptiles.  

(ii) (Cyprinus/Echeneis) is a sucker fish.  

(iii) Heart is a three-chambered structure 

consisting of two atria and one 

ventricle in (fish/amphibians). 
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(iv) (Perissodactyla/Artiodactyla) are 

hoofed mammals with odd number of 

toes.  

(v) (Macropus/Platypus) have become 
mostly terrestrial and developed a 
bipedal method of progression.  

(b) Differentiate between any two of the 
following pair of terms : 1

22 ×2=5 

(i) Sympathetic and parasympathetic 
nervous system.  

(ii) Procoelous and amphicoelous 
vertebrae. 

(iii) Cursorial and scansorial locomotion.  

(c) Match the following : 1×5=5 

 Column A  Column B 

(i) Bats (a) Swimming 
mammal 

(ii) Dasypus (b) Walking 
mammal 

(iii) Whale (c) Africa 

(iv) Chimpanzee (d) Edentata 

(v) Zebra (e) Chiroptera 
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2. (a) Give any five distinguishing features 
between poisonous and non-poisonous 
snakes.  5 

(b) Describe the characteristic features of class 
aves and classify them upto super order by 
giving one example of each. 10 

3. Describe the specialised derivatives of the 
integument in vertebrates. 15 

4. (a) Explain the feeding mechanism in fish and 
amphibians.  8 

(b) With the help of diagrams, explain 
respiration in birds. 7 

5. (a) Describe the structure of piscian heart. 7 
(b) Discuss the urinary system in fish. 8 

6. (a) Describe the olfactory organs of 
vertebrates.  7 

(b) Explain innate behaviour in vertebrates. 8 
7. Describe various means of defence in animals.  

15 
8. Write short notes on any three of the following : 

3×5=15 
(a) Echolocation in aquatic mammals  
(b) Adrenal glands  
(c) Mammary glands  
(d) Ornithorhynchus 
(e) Circadian rhythm  
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      LSE-10 

foKku Lukrd (ch- ,l&lh-) 

l=kkar ijh{kk 

twu] 2021 

tho foKku 

LSE-10 % izk.kh fofo/rk&II 

le; % 3 ?k.Vs     vf/dre vad % 75 

uksV % iz'u la- 1 vfuok;Z gSA iz'u la- 2 ls 8 rd 

fdUgha pkj iz'uksa ds mÙkj nhft,A  

1- (d)  fuEufyf[kr dFku dks if<+, vkSj dks"Bd esa 

fn, x, lgh fodYi dks pqfu, % 1×5=5 

 (i)  (,sfEiQlchfu;k@LiQhuksMku) vkfne 

ljhl`i dk ,dek=k thfor izk.kh gSA  
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 (ii)  (lkbfizul@,dkbuhbl) ,d ldj fiQ'k 

gSA  

 (iii) (eNfy;ksa@,sfEiQfc;uksa) esa ân; rhu&d{kksa 

okyh lajpuk gksrh gS ftuesa nks ,fVª;k 

(vkfyan) rFkk ,d osUVªdy (fuy;) 

gksrk gSA  

 (iv) (isfjLlksMsDVkbyk@vkfVZ;ksMsDVkbyk) fo"ke 

la[;k esa m¡xfy;ksa okys [kqjnkj Lruh gksrs 

gSaA  

 (v)  (eSØksil@IysVhil) vf/drj LFkyh; 

cu x, gSa vkSj muesa pyus dh f}ikn 

fof/ fodflr gks x;h gSA  

([k)  fuEufyf[kr esa ls fdUgha nks 'kCn ;qXetksa esa 

foHksn dhft, % 1
22 ×2=5   

 (i)  vuqdEih ,oa ijkuqdEih raf=kdk ra=kA 
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 (ii)  vxzxrhZ ,oa mHk;xrhZ d'ks#dA 

 (iii) /koh ,oa vkjksgh lapyuA 

(x)  fuEufyf[kr dk feyku dhft, % 1×5=5 

 dkWye v  dkWye c 

(i) pexknM+ (a) rSjus okys Lruh 

(ii) Msflil (b) pyus okys Lruh 

(iii) Ogsy (c) vÚhdk 

(iv) fpEiSat+h (d) bZMs.VsVk 

(v) ts+cjk (e) dkbjkWIVsjk 

2- (d)  fo"kSys ,oa fufoZ"k lk¡i ds chp igpku djus 

okys fdUgha ik¡p y{k.kksa dks fyf[k,A  5 

([k)  if{k;ksa ds fof'k"V y{k.kksa dk o.kZu dhft, vkSj 

mnkgj.k nsdj if{k;ksa dk oxhZdj.k lqij vkWMZj 

rd dhft,A 10 
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3- d'ks#dksa esa Ropk ds fo'ksf"kr O;qRiknksa dk o.kZu 

dhft,A    15 

4- (d)  eNfy;ksa ,oa ,sfEiQfc;u izkf.k;ksa esa v'ku 

fØ;kfof/;ksa dks le>kb,A  8 

([k)  vkjs[kksa dh lgk;rk ls if{k;kas esa 'olu dks 

le>kb,A  7 

5- (d)  eRL; ân; dh lajpuk dk o.kZu dhft,A  7 

([k)  eNfy;ksa esa ew=k ra=k dh foospuk dhft,A 8 

6- (d)  d'ks#dksa eas ?kzk.k vaxksa dk o.kZu dhft,A 7 

([k)  d'ks#dksa esa tUetkr~ O;ogkj dks le>kb,A   8 

7- izkf.k;ksa esa izfrj{kk ds fofHkUu lk/uksa dk o.kZu 

dhft,A    15 
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8- fuEufyf[kr esa ls fdUgha rhu ij laf{kIr fVIif.k;k¡ 

fyf[k, %   3×5=15 

(d)  tyh; Lrfu;ksa esa izfrèofu fu/kZj.k 

([k)  ,fMªuy xzafFk;k¡ 

(x)  Lru xzafFk;k¡ 

(?k)  vkfuZFkksfjadl 

(Ä)  fnolizk; rky 
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